Ratio to ATLAS

d?o / d N°° d H™} [pb/GeV]

13000 GeV pp tt
L B B B I

] I O I B B S B %
c
- —_ i )
ttHT (ATLAS semileptonic ttbar) o
1 — —_2
— -
— A
- WA
B 1S
B Bk
| ™
100 EE
— i d
L N _
107 = EL
- <
- )
— —1©
- HO
™
- <
=
103 & W ATLAS e
— = @
= —A— Pythia 6.428 370 =
L Pythia 6.428 default ]2
[ —a— Pythia 8.308 default 3
G
107 ER
S S O U O SN I I = o
2 B =F.
1 B _1
_ /4/‘/‘/‘; s |
05 -4 s tib—n A 0.5
I T SR T I T S SR T I T S SR T I T S SR T l
0 500 1000 1500 2000

Hr "} [GeV], N = 4



	Contents
	Page 1


